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Sia
∞∑
k=0

ak una serie tale che esiste una successione infinitesima bk per cui

ak = bk − bk+1∀k ∈ N.

Allora risulta: sn =
∞∑
k=0

ak =
∞∑
k=0

(bk − bk+1) = b1 − bn+1.

Da cui:
∞∑
k=0

ak = lim
n→+∞

sn = b1 − lim
n→+∞

bn+1 = b1.

1 Esempio 1: serie di Mengoli
∞∑
k=1

1

k ∗ (k + 1)
=

∞∑
k=1

(
1

k
− 1

k + 1
) = 1− lim

k→+∞

1

k + 1
= 1

2 Esempio 2
∞∑
n=2

log(1 +
1

n
) =

∞∑
n=2

(log(n+ 1)− log(n))

an = log(1 + 1
n) = log(n+1

n ) = log(n+ 1)− log(n)

sn = (log 3− log 2) + (log 4− log 3) +··· +(log n− log(n− 1)) + (log(n+1)−
log n) = − log 2 + log(n+ 1) = − log 2 + lim

n→+∞
log(n+ 1) = +∞
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